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Passage 1
English As A World Language

1 The number of speakers of English in Shakespeare’s
time is estimated to have been abcut five million. Today
4t is estimated that some 260 million people speak it as

.a native language, mainly in the United States, Canada,

Great Britain, Ireland, Scuth Africa, Australia and
New Zealand. In addition tc the standard waricties of
English fcund in thesc arcas, there are a great many
regional and sccial varieties of the language, a5 well as

varicus levels ¢f usage that are employed beth in its

:spocken and written forms.

2 Tt is virtually impcssible to estimate the number cof
people in the world who have acquired an adequate VWworking

knowledge cf English in addition to their own languages.

‘The purposes for which English is lcarncd ard the

-situations in which such learning takes place are so

varied that it is difficult tc define and still more

difficult to assess what constitutes an adeqvatec working

knowledge for each situation.



3 The main reason for the widespread demand for
English is its present-day importance as a world language.
Besides serving the infinite needs of its native speakers, .
English is a language in which some of the most impor-
tant works in science, technology, and other fields are
being produced, and not always by native speakers. It is
widely used for such purposes as meteoroiogical and
airport communications, international conferences, and
the dissemination of information over the radio and
television netwerks of many nations. It is a language of
wider communicaticn for a number of developing.
countries, especially former British colonies. Many of
these countries have multilingual populations and need a
language for internal communication in such matters as
government, commerce, industry, law and education as well
as for international communication and for access to the
scientific and technological developments in the West.
(303 words)

Exercises

1. Tick off the best choice according to the information given-
in this passage.
1. Which of the following statements is true?
a. Today some five million people speak English as a native -

language.
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b. In Shakespeare’s time about 260 million people spoke
English as a native language. ;

¢. Today about 260 million people speak English as a native
language. )

d. Today about 2600 million people speak English as a native
language.

. Which of the following statements is Not true?

a. Some 260 million people in the world have an adequate
working knowledge of English.

b. There arc some 260 million native speakers of English in
the world.

c. It is almost impossible to estimate the number of people

_ with an adequate working knowledge of English.

d. People learn English for a variety of reasons.

. According to this passage, what is one main reason for the

widespread use of English?
a. It was popular during Shakespeare’s time.
b. It was used in former British colonies.
c. It serves the needs of its native speakers.
d. It is a world language that is used for international

communication.

. What makes up an adequate working knowledge of English?

a. The ability to read newspapers.

b. It is difficult to assess because it differs for each
situation.

c. Being multi-lingual.

d. Being a native speaker.

5. What type of developing countries would be most likely to

use English?

S



a. Those geographically close to the United States.
b. Those geographically close to Great Britain.
¢. Former colonies of Great Britain.
d. Countries where international conferences are held.
II. Guess the meaning of the given words according to their
contexts.
1. The word “estimated” (in paragraph 1) means .

a. calculated or formed a judgment b. written

c.~told d. established

2. The word “virtually” (in paragraph 2) means _ _ .
a. not b. almost
c. naturally d. vividly

3. The word “adequate” (in paragraph 2) means . .
a. adverb b. equal
c. active d. enough

- 4. The werd “constitutes” (in paragraph 2) means __ __ .

a. exists b. concludes
C. co-operates d. makes up

5. The word “access” (in paragraph 3) means .
a. way or entrance b. possession
c. wave . d. money

III. Choose & correct word to fill in the blank. Use suitable verb

tensce, singular or plural forms for nouns, and passive voice
where necessary.

1. developer, development, to develop, developing, developed
a. I don’t know anything about the historical cf

capitalism.

b. China is still a __ country.

c. The United States is a _ country.
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d. Oh, I think he is a real estate

e. Go cn and your argument fully.

‘2. nation, national, nationally, nationality

a. That product was ___ advertised on TV.

b. Do you know all of the words to the anth:m?
¢. Which is the largest _  in the United Nations?
d. What’s your _ 2

.3. speaker, speech, to speak, speechless

a, Yesterday I to 20 people on the phone.
b. Carlos is such a good that everyone likes to hear
him talk.

c. He always gives an excellent _ .

.d. T was so surprised that I could’'nt say a word; 1 was

4. Industry, industrial, industrious
a. Heavy is very important for a country.
b. Shanghai isan ____ city.

c. The Chinese people are brave and

5. variety, variation, to vary, various, variously

a. I have visited countries in Europe.

b. Customs in the countries I have visited.

c. I tried a of new foods in every country.

d. From time to time, I have worked as a printer,

an editor, and an artist.

¢. There are in public opinion.

IV. Do you know the meaning of the following pairs of
sentences?



She is with child.
She is with a chil&.
He is in black.

He is in the black.

1.

2.

3.. She is in pink.

He keeps a shop.
He went to pot.
went to a pot.

5.

o

r. Smith took a chair.
. Smith took .the chair.

6.

33

The boss gave the worker a sack.
The boss gave the worker the. sack.
He took flight.

He took a fllght.

8.

{
{
1
{H keeps shop.
{ie
{oa
1
{
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Passage 2
Owls

1 A fat young mouse runs out to play at night. The
moon is full and round. A few soft white clouds drift in
the sky. The cows sleep in the stalls. Now the big hound
is not on watch. It sleeps in its house, growling a bit as
it dreams. The hawks, which have hunted all day, have
gone to sleep, too. It is safe. Our mouse grows bold. It
crosses the road.

2 Down swoops a gray owl: Not a sound does it make.
Its claws close tight cn the mouse. And the cwl flies back
to its tree. Down its throat slides cur young mouse —
in cne piece; The owl munches its mouse lunch. Then
the owl spits small round balls of ground-up bones out
on the ground. Owls hunt food at night. They like meat,‘
and they catch rats, moles, and shrews.

3 Owls have big heads, strong hooked beaks, and strong
claws. The eyes sit in round disks, side by side, and not
on the side of the head, like the hawk’s!. The eyes of the
owl do not move from side to side. The owl must move

o 7 o



his whole head to the left and right to see: Owls see best
at night. They catch sounds by means of big slits on the
side of the head?.

4 Cwls do not like crowded towns, so they live close
to the woods. Small owls build nests in holes in trees:
Some build nests in the ground: Big owls may livein old
hawks’ nests. In spring you may find from one to twelve
round white eggs in an cwl’s nest:

5 At least 500 kinds of owls have been counted. The
small elf owl is just six inches high: The big gray owl
grows to be 30 inches high. It has a wing span ol 60
inches — five feet] But big owls and small cnes scem
to have the same wise look as they watch us with big
wide eyes. And a big owl and a small one make the
same kind of call, as if asking “Who-c0-002% (350
words)

Exercises

1. Tick off the best choice according to the information given
in this passage.
1. When an owl flies, it does not
a. flap its wings b. make a sound
c. look at the ground d. hunt
2, The owl gulps down its food

a. in one piece b, in small balls
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c. in onc minute d. with salt
3. Owls like hunting _

a. at noon b. in the morning
c. all day d. at night
4. The owl likes catching
3 a. birds b. rats and shrews
c. cows and hounds d. hawks l
5. The beak of an owl is
. a. round b. hooked
c. weak d. straight
6. The claw of an owl is
® a. strong b. weak
c. big d. small
7. The owl’s eyes do not
a. see well b. close
c. move left or right d. blink
8. Small owls have nests in
a. houses b. woods
c. trees d. sheds
9. The size of an owl may be from
a. 30 to 60 inches b. 6 to 30 inches
c. 10 to 20 inches d. 3 to 50 inches
g 10. We have ccunted at least
a. 600 kinds of owls b. 1,000 kinds of owls
3 c. 500 kinds of owls “d. 300 kinds of owls

1. Choose a correct word to fill in the blank.
1. tight, tightly
a. The door was shut _ .




